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factories in China, Brazil, Austria and Slovakia. The

value of the pound is therefore much less of an issue. Revision essentials

Economic climate: like the weather, the economy

For the British multinational Unilever, long-term

S . can run cold or hot; the economic climate is a
thinking has had an even more dramatic effect. In

measurement of the current economic outlook,
2001, it amazed the business world by announcing a which might be promising or worrying.

target of having 50 per cent of its sales in developing

End of chapter exercises

1 Outline how a dramatic improvement in 3 The government brings in a new law thatall  }
technology might affect: babysitters must pass a test of competence.
Outline the possible effect on:

() the market for games consoles, currently :
dominated by the Sony PS4 (@) businesses

(b) the market for takeaway pizza, currently (b) parents.

GlermivEtice [ [Dlommie . 4 Suggest one approach that could be taken

2 Explain how a UK manufacturer and exporter by discount grocer Lidl to ensure that it does
of cars might respond to a strong pound. well even when the economy is booming.
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ction facilities across the world

s beaten that figure: today nearly
sales come from faster-growing
uch as China and India.

2 right conclusions

carn that change is a regular
1g to changes in the fierceness
agth of the pound are a regular
1 making. The businesspeople
those who don't just react to
— like Jaguar Land Rover or
1 to protect the business from
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: The Bank of England needs to act fast to combat
i a severe economic downturn caused by the vote
to leave the EU, warns one of Britain's most
respected independent economic forecasters.

¢ In a grim assessment of the UK's economy after
: the vote for Brexit (Britain exiting from the EUJ,
the National Institute of Economic and Social
Research [NIESR] said 320,000 jobs would be
lost by the third quarter of next year and warned
: that the economy had a 50 per cent chance of

i slipping into recession in the next 18 months.

Inflation would increase to more than three per
: cent for the first time in five years in late 2017 as
: the weak pound pushes up the price of imports,
: and the government would be forced to borrow
an extra £47 billion in the next four years, NIESR
: said on Wednesday.

According to NIESR, economic growth would

slow to 0.2 per cent in the current quarter

from 0.6 per cent in the previous three months,

and stagnate for the rest of the year. Growth

i is forecast at one per cent for all of next year

: but conditions could worsen, it said. Its report

: followed a series of dire business surveys,
including one showing the economy shrinking at

i its fastest pace since the 2009 recession.

Practice questions

NIESR said the slowdown was caused by
reduced business investment after Brexit, which
threatened to disrupt companies” most important :
trading relationships. Rising unemployment,
muted wage growth and uncertainty would also
hit consumer spending, it added.
Source: The Guardian, 3 August 2016
Total: 15 marks
1 Outline one reason why inflation of ‘more than three
per cent’ might be a worry for UK businesses. (2] &
2 Outline one way in which a UK-based food
manufacturer such as Cadbury might :
respond to a weak pound. 2):
3 Outline one way in which a business such
as Costa Coffee might respond to rising :
unemployment. (2
4 [f the UK economy falls into recession, a
construction company such as Costain has
two options:
+ Option 1: Cut its workforce, perhaps by
making ten per cent of staff redundant. :
+ Option 2: Risk making a loss by keeping all :
staff employed.

Justify which one of these options they
should choose. (9) :
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